Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1]

Dezimalzahlen

Aufgabe 1 Aufgabe 2

1. 619 « 100 = . 190 « 100 =
2. 949 « 1000 = 2. 1,82 « 1000 =
3. 560 « 10 = 3. 814 « 10 =
4. 247 ¢ 10 = 4. 254 « 100 =
5 736 « 1000 = 5 624 « 10 =
6. 3,7F o 10 = 6. 597 « 1000 =
7. 538 e« 1000 = 7321 « 10 =
8. 935 « 1000 = 8. 961 « 10 =
9. 320 « 10 = 9. 117 « 100 =
0. 753 « 10 = 0. 919 < 1000 =
Aufgabe 3 Aufgabe 4

1. 759 e« 1000 = 1. 4,25 « 1000 =
2. 4,48 o 10 = 2. 289 e« 1000 =
3. 436 « 1000 = 3. 818 + 1000 =
4. 2,69 e+ 1000 = 4. 961 ¢ 10 =
5 880 « 100 = 5 951 « 100 =
6. 558 < 100 = 6. 9,78 e« 1000 =
7. 981 « 1000 = 7. 4,48 « 10 =
8. 226 - 1000 = 8. 881 « 10 =
9. 528 « 100 = 9. 536 « 10 =
0. 1,70 « 1000 = 0. 3,62 « 1000 =
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Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1] |
ANTWORTEN

Dezimalzahlen

Aufgabe 1 Aufgabe 2
1. 619 - 100 = 619 1. 1,90 o 100 = 190
2. 949 e 1 000 = 9490 2. 182 o 1 000 = 1820
3. 560 10 = 56 3. 814 o 10 = 81,4
4. 2,47 o 10 = 24,7 4. 254 o 100 = 254
5. 736 e 1 000 = 7360 5. 6,24 o 10 = 62,4
6. 377 e 10 = 37,7 6. 597 o 1 000 = 5970
7. 538 1 000 = 5380 7. 3,21 . 10 = 32,1
8. 935 e 1 000 = 9350 8. 9,61 . 10 = 96,1
9. 320 - 10 = 32 9. 117 o 100 = 117
10. 753 e 10 = 75,3 10. 919 o 1 000 = 9190
Aufgabe 3 Aufgabe 4
1. 759 e 1000 = 7590 1. 4,25 o 1000 = 4250
2. 4,48 o 10 = 44,8 2. 289 e 1000 = 2890
3. 436 e 1000 = 4360 3. 818 o 1000 = 8180
<. 269 e 1000 = 2690 4. 9,61 . 10 = 96,1
5. 880 e 100 = 880 5. 9,51 . 100 = 951
6. 558 100 = 558 6. 9,78 e 1000 = 9780
7. 9,81 . 1000 = 9810 7. 4,48 o 10 = 44,8
8. 226 e 1000 = 2260 8. 8,81 . 10 = 88,1
9. 528 - 100 = 528 9. 536 10 = 53,6
10. 1,70 1000 = 1700 10. 362 1000 = 3620
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